MONDAY TUESDAY

‘ - o Le+3=

; -5 2. Write the numeral one million, one hundred and 2. Round 7.12 (nearest whole number). ..
| hundred and eleven.

| é; eleven thousand, one hundr 3.30% of €60.00 = € -
4.04x10=
'! 3. Toss a coin. The chance it will land on a 'tail’ is 5. 999,999 + 5 —

| " 6.30fd0=
", 4.4.01>4.10 _ITrue [ _False 751510510 =
¢ .999,998 + 7 =

. e 8. Colour 80%.

' 6.002+05+3=__
| 7.414,144 5 =
: , — 9. 11¥¢=__ . .

'} 8.14:52hours= [ Jam. [ipm. D >
.: 9. Old price €80, Now it costs € 10. Draw a 270° turn anticlockwise.

il 11. 14,000 — 5,500 =
{ 1228 -5=___

‘: 13. Coin Nu::)li):_-: A Value
I 10. How many vertices on a pentagonal A
b / \ 20c 6 €1.20
i ramid? [ A\

‘,\‘ Py /‘f;’ 50¢

ﬂ: 11.51.245 + 20.631 = Total €5.20
| 2. 1=25
i 14.5 x 16 x 200 =
I 13.Area=36m>

" _ 15.07135° []45°  \\

d Side c= ~m ¢ [ 110° [ ]180°
I ; .

g 14. What is the perimeter of Sm The table shows film times at the cinema.

“'| this shape? m Film Show1 | Show2 Show 3
g 15. +30, +20 0 ~20,-30 R =D 155
i ' Spysrus 1458 1850 20:10
il 16.80608=_ Wizards 14:15 17:50 20:25
! 17. There are 10 vases, with 8 flowers in each. How :

. 16. Are all the times a.m. or p.m.? I
many flowers altogether?

i ~ 17. What time does the latest show
I - start (in 12-hour time)? I
‘ 18. Write i ' 3 ; ;

- White In descending arder 18. What time does the earliest
W 0.03 5 0.09 2 show start (in 12-hour time)? o

19. Which film starts at 5.10 p.m.?

b r r 1

19. Colour 40%.

20. Which film starts at 8.25 p.m.?

20.72 6=
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WEDNESDAY THURSDAY

3 3 2 4
lLe+7=_ 1. t+w=___

2.30% of €90.00=€___ 2.899901 -8 =

G€ JOIM

3. Write the numeral one million, one hundred and ten 3.21.704 +34963 =
thousand and eleven.

4. If you gave 50c to 25 children, it is

4. Colour % . iniotal,

5.999,997 + 9=

6. Draw all the lines of symmetry.

7.122=___
. . , 8.%0f100=___
5. How many vertices on a triangular prism? -
6.217,117-9= 9.6,904 x 10 =
7.Mx12=____ 10. 11)13 S
8. Abacus = . M.+75 425 _ =25 ___ 75

12.69+31+69+31=__

13.Area=____ m? ] 5
6m TmE
14. Perimeter=_______m 3 o -
9.6.002<6.020 [ Tue [ ]False 15. If you ride your bike 12 km in 3 of an hour, how far
10.7 x 6 = 1 of will you cycle in one hour?
11. The cost of 3 kg of cheese at€0.90 per 100 g. km
—— 16.€100.00 — €36.50 = € _

12. The dlock hand rotated from 4 to 6 17. Jack has 32 buckets. Jill has 18. How many buckets

altogether?

is °
13.94864-31421=__ =
14. 10)460 = 18. 56 =

15. €10000~€2650=€_ S s =

square-based pyramid.

16. Draw a net of a / l
17. 4,106 x 10 l:

L 18.2 % __

=18 20. Write in ascending order.

19. The perimeter of 9 1 1 3

r=4,5cm k |“

s

the squareis ____ cm.
20, 74
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Week 35

PROBLEM-SOLVING

Monday
1. Colour 2,500 mL. Y—at
2. What capacdity is left in \*
the container?
mL E
Tuesday

1. What size is angle b?

5 p\130°

2. What is the angle rotation
from 12 to 57

[15° [ 125°
[1150° [ 1180°
Wednesday

1. Bronagh read 120 pages of the 300-page
book, ‘101 Homework Excuses’ in 2 hours. If
<he reads at the same rate, how long will it
take her to finish the book?

__hours

2. Amy read 450 pages of a book in 5 hours. What
is her average number of pages read per hour?

Thursday o .

1. Join the dots to draw 2 cubes.

7. Join the dots to draw a 4-cube L-shape.

s Bl A N s Mental Maths:

FRIDAY REVIEW

! 4
1.5+ 0 =—

2. \Write the numeral one

million, one hundred and

ten thousand and ten.

3.8305x 10 ="

4, Complete.

Number

. Value
of coins

Coin

20c 15 €3

50c¢

Total €8.50

5. 20% of €80.00

7.21:30 hours =
[Jam. [Ipm.

8. 0ld price €120, now

S I
_si:'\’ﬁ-‘w"(f
9.324,113-9

e ——

10.Draw a net of a
tetrahedron.

11. Colour .

12.26.092 + 51.346
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13.
14.

15.

16.

17.

18.

19.

20.
21.

22,
23

24.
25.

978-1

Lof50=___
+18, +12,
-6,

IOi
-18 ‘

Round 7.92 (nearest
whole number).

i

Mark as an
equilateral
triangle.

Draw a cut
line to show
how to make
2 triangular
prisms.

Sam had 26 pies. He gave
12 to Colin. How many
pies has Sam got left?

69.285 — 21.042

3,1 2 _
7+ =

If Bruno has a total of
£4.80 in his pocket, of
which €1.80 is in 20c
coins and the balance is
in 50c coins, how many
coins altogether?

54 = =6

Area = 21 m?, therefore

a=____....Mm

[l
Perimeter= T
8 x =172

The place value of the 3
in2.43is

s e s el

£l
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